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PART 1 (35 points)

Answer the questions for (A) A Summer's Reading.

A. A SUMMER'S READING / Bernard Malamud
Answer questions 1-4.

1. George isn't working in the summer because (—).
(i)  heis studying at night school
(i)  he doesn't need the money
(iii) he can't find a suitable job

(iv) he wants to hang out with his friends

(5 points)
2. According to George, Mr. Cattanzara is not like the other neighbors because (-).
(i)  he has an interesting job
(i)  he has a good education
(iii)  he asks different kinds of questions
(iv) he gives the children lemon ices
(5 points)

3. Towards the end of the story, when Mr. Cattanzara asks George how the books are coming along, he
"smiled slyly, a way George had never seen him smile". Why do you think Mr. Cattanzara smiles

this way? Give information from the story to support your answer.

ANSWER: .t e et e e e e et s bbb e e e s e e sa e e s

(10 points)
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4. For this question, choose ONE of the thinking skills from the Appendix (navy) on page 15
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OR any thinking skill studied in class. Use this thinking skill when answering the question.
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(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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At the end of the story, why does George run "out of his house to the library, where he hadn't

Ry

been in years" ? Give information from the story to support your answer.
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PART 1II (45 points)
Answer the questions for either (B) All My Sons OR (C) The Wave.

B. ALL MY SONS / Arthur Miller
Answer questions 5-9.

5. Before George visits his father in prison, how do he and Ann feel about him?
(i)  They feel sorry for him.
(ii))  They blame him for the crime.
(iii) They believe he was framed.

(iv) They respect him.

(5 points)
6. Atthe end of Act II, Keller claimed the cylinder heads were sent out because (-).
(i)  the army said they would fix them
(i1)) Joe didn't know they were cracked
(iii)) Joe was afraid to lose the army contract
(iv) Steve said they would hold up
(5 points)

7. In ActI, when Chris is talking to Joe about marrying Ann, Chris says " You have such a talent
for ignoring things." Joe answers, "I ignore what I gotta ignore." Explain what Chris and

Joe mean by this. Give information from the play to support your answer.

(@101 5 TSR

(10 points)
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8. Why is Ann an important character in the play? Give information from the play to support
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9. For this question, choose ONE of the thinking skills from the Appendix (nov3) on page 15
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OR any thinking skill studied in class. Use this thinking skill when answering the question.
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OR:

C. THE WAVE / Morton Rhue

Answer questions 10-14.

10.

11.

12.

8 Tmy

David believes that The Wave will help the school football team because (-).
(i)  they will be more motivated

(i1))  other students from his class will join the team

(iii) more people will watch the games
(iv) it helped other teams in the city
(5 points)
The principal of the school lets Ben continue the experiment because (-).
(i)  he thinks The Wave is good for the students
(ii))  the school has become more popular
(iii)  he trusts Ben to do the right thing
(iv) Ben's experiments are always successful
(5 points)

When Laurie goes to the football game she refuses to give The Wave salute and sit with the other
students. Explain why Laurie reacts this way. Give information from the novel to support

your ansSwer.

ANSWER: Lottt e e e e e e s st e e e e s ennnee

(10 points)
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14. For this question, choose ONE of the thinking skills from the Appendix (nsvy) on page 15
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

Robert's mother is very excited because Robert has become a completely new person. Explain
why joining The Wave brings a change in Robert. Give information from the novel to support

your answer.

Thinking SKill T ChOSE: ...c..eiiiiiiiiiiieieee ettt

ANSWER: Lo e st ara e

(15 points)
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